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F FEeIMFPERENTIKKkEERASEEFEES 2015558 10H ioEsoBREAEKEKT—IL
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BT 7 BHE ER |2 AE B |3 XHE RA |4 EH EBW |5 IXK HME |6 WK KK |7 GE FH |8 WA R
50m TR MR |k ™ o1 | FEEH /N6 |FERTH e 6|l o1 [ FEEH /N6
ASH 25.77 29.68 29.69 29.79 30.76 30.78 31.52 31.58

& 7 ORHE ER |2 B #HE |3 BHR BT |4 XHFRAE|s5 WMREREH (6 BE B |7 BB WA | 8 EXR £
100m TRA™ 1 |A® 1= i o1 | FEEmH EEE:D o1 [FFRF T (ke ™ /6
AL#H 54.95| K& 58.03 59.74 1:04.43 1:06.23 1:06.53 1:07.60 1:08.23

. ] O EH EE |2 BHBE |3 BRXEWE |4 TRk EBEE|S5 KB K— |6 FHIMK| 7 HEXEF| 8 AF =
200m WA 1 |lAm IELR:DH RELR:DH /N6 | B FF T /6 |AmT /6 |AmT™ =k /N6
2:05.05 2:10.03 2:18.90 2:26.51 2:28.75 2:29.64 2:31.28 2:31.56

e 7B KE |2 B K |3 XH WE|4 FKkExE|s BA X |6 BEF KE |7 HBE XTL | 8 BH EE
50m o [T =ki o1 (B RFTH IER:DH 1 [EEH 6| KBER IR 1| KEER H1
32.11 33.94 34.58 35.32 36.75 37.00 37.61 38.76

P 7 OB KE |2 FE K |3 X WE|<4 BA X |5 BEF KE |6 HE XK |7 B BE | s BH EE
100m WA oot [liam o1 [BFRFTH 1 [EEH 6| KEER MR MER:DH 1 | KSER 1
A£$H | 1:07.62 1:13.77 1:15.64 1:18.20 1:19.48 1:19.85 1:25.02 1:25.10

TE 7 OfEA XE |2 ZFERERK |3 KB RE |4 B BXK |5 HRW AB |6 HEREEA| 7 ¥H KBE | 8 BN FE
50m TRE™ 1A o1 [FFRF T MEE:DH h1|#& H /N6 |FR T /N6 | B R T /6| FRATH N5
36.88 37.07 37.28 37.86 37.87 38.92 39.22 39.31

T 7 OBl OAKR |2 BH XE |3 HEBERK |4 B BX |5 KB RE |6 BHF FE |7 WH EE | 8 HBREEA
100m |FX T /6| FRATH 1 |lAm RELR:DH o1 |BERFTH b1 | FEEH N5 | B FF T 6 |Fk T /N6
1:22.58 1:22.85 1:22.91 1:24.10 1:26.77 1:27.49 1:27.79 1:28.41

Nao54 | ! e B | 2 BEE WA |3 TH BEWH |4 A8 BX |5 WMER EH |6 WA BXK |7 IKX BE | 8 EHH KT
50m BRF ™ /N6 | B FF T o1 | FEEH 6| EET N5 | TR 1 |ErEm /N6 |FER T 1=k /N5
29.63 31.48 31.56 31.96 32.20 33.63 34.20 34.93

a5 | 7 e B | 2 A6 K| 3 ME BI |4 Tk BE |5 ME M@ |6 N BX| 7 FE OEK| 8 HFEEEEF
100m |PAAFTH UNE=EE N5 | EETT ELR:DH /6| AT /6| AT 6| KSER N5 | AT i1
1:06.50 1:12.68 1:14.22 1:15.62 1:17.82 1:18.41 1:20.75 1:21.25

BIARL— | 7 EXAER |2 ®E B3} |3 RAINIMA| ¢4 BE Bt |5 HB X |6 Ea BF | 7 #HS #F | ¢ =H A
200m (AT 1 [EEH EELE:D 6|l N5 | WS/ BT /N6 |ART | TR N5 | EmTT N3
2:40.67 2:40.76 2:51.28 2:52.71 3:00.09 3:23.27 3:29.08 3:39.65
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va1—

FRT

F FEeIMFPERENTIKKkEERASEEFEES 2015458100 lOEsLEEEABEKKT—IL
T—arT423ai58108 0900 KiEEN  ER26°C  KiE28C
58108 1300 XiEEh  FiR:275°C KiE:28°C
& 7RI XE |2 €A £ |3 REREERRE |4 BN —FE |5 Il FF |6 k¥ K| 7 Bhh BF | 8 BF EE
s50m WA s |B5AFTH i [EETH thi (KM N6 |FR TH N6 AT s (AT a0 B
29.33 29.42 29.90 30.32 31.03 31.58 31.75 31.85
R 7R SE |2 BN —E |5 €M EL | BIEE |5 KE KB |6 P EHR |7 RERBE| 8 HF =R
100m |EETT Bkl /N6 | BT si(llAT si(lAT si(luAT s (ILES/NEFRT i |BR T B
1:03.52 1:04.43 1:04.97 1:04.97 1:06.69 1:07.19 1:07.96 1:10.25
. 7OKIR HL |2 ik AR |3 KE % |4 RERBE |5 BN RE (¢ EHF EKR |7 KA = | 8 Bx BE
200m |EETM EE:D oot iLATH o1 (SN AT 1 |FER T /6| AmT™ /6 |AmT™ NPT /N6
2:17.08 2:24.13 2:24.20 2:27.83 2:30.55 2:33.18 2:36.28 2:38.56
e 7OMER RE |2 EBEH MR | s BKH EE |41 BFERL |5 BEBE |6 S EE |7 AU BF | s FE EE
som |EET o |WLRS/NEFAR™ 1 [ILOT g1 (B5AFTH INAM=kx w1 | B A=k g1 | FBITH Gl
32.55 33.03 33.73 33.79 34.62 34.96 35.74 37.50
e 7O RE |2 BH ZTA| s BB R |4 kA EE |5 BN £E |6 EB MR |7 AL EBF |8 S5 k=2
100m |BETW o1 |BARF T /N6 [LLUBS/NEFET bt [ILATH thi|ILATH thi|ILATH thi|ILATH o1 |BARF T /N6
1:08.66 1:11.80 1:11.81 1:13.09 1:13.86 1:15.15 1:19.68 1:24.91
T 7 OMA BF |2 BADR|s BHLCEX|<4 KR WE |5 BF BF |6 ZHEXRER|7 FE 5 | s AL BT
50m  |HETH si(lAT si(liAT PN s[RI N6 |Em 6| lAT si(lAT N6
REH 37.32 38.09 39.66 40.81 42.41 42,50 43.78 43.93
T 7OBA BT |2 BA DR | BM X4 BHF EE |5 KRN DE |6 Bl T |7 KW BE| s FE BF
100m |HLIAT o1 |lLO o |lLOT o1 | TR 6| KSER o1 |lLO N6 |ILES/NEFERT /v | FRETH N5
1:20.74 1:22.29 1:27.10 1:29.22 1:30.51 1:35.08 1:36.35 1:38.54
a4 | ! Reh Ei | 2 BN BE |3 MRS |4 SR HMF |5 L EF |6 HE EH |7 BN BEKXK | & AN B
50m | RSE INMM=kq o |Emh /N6 |EmT i | EET /N6 |EET o1 @ o |FETH N5
30.53 31.36 32.32 32.65 33.75 34.23 34.32 34.89
NaTsq | 1 Kéh EEH | 2 EH BE |5 ANk RS |4 BR RF |5 AF AT |6 B AKX |7 B AR | s AW A#
100m | RS# 6| ILAT M IEE:Kid N6 ErT g1 (B5AFTH s |EfEh M IBE:Kid /N5 | FERTH /N5
1:07.98 1:10.33 1:11.07 1:17.13 1:18.18 1:20.96 1:21.69 1:22.08
BAARL— | 7 B ORI | 2 RH RE |5 =% BT |4 BERFNRE |5 BH K |6 #HF BHE | 7 FEK B | s WL EF
200m |WWAT si(llAT H1 (AT 1 [EET Hi(Fk N6 | FERT 6| lAT i [EET N6
2:35.79 2:37.39 2:37.81 2:40.47 2:48.71 2:49.22 2:49.50 2:49.63
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BmENBF

F FEeIMFPERENTIKKkEERASEEFEES 2015558 10H IO ESLEREAEKEKT—IL
J—)LavT423158108 09:00 KiERBH =iR:26°C JKiR:28°C
58108 1300 Xiz:FEh ER275°C  JKiB:28°C
& 7OWMEA —E |2 BEEEB |3 WE B |4 BHEZN |5 PR - |6 RAE KE | 7 T E} |8 B KN
50m |KRSEB A=k X2 [EET B3| aEm =1 [EET =2 [ EEm =3(lam X4(luOwm =3
24.71 25.10 25.28 25.53 2557 25.65 25.92 25.99
B 7R BHE |2 BEWEE |3 BNHEIE| 4 WE AR |5 HREBEE (6 M KN |7 BEH E2 |8 AKX E
100m WA k] =k R2 (WO =3 [ EEH =3 (#k A =k =3 Erh 3| EET =1
53.83 54.86 55.29 55.33 57.07 57.12 57.24 57.33
. 7 BEAR BE | 2 WA BE |3 HRNHEEE| 4 M H— |5 WRET EK |6 A% BEE | 7 EE RiE | 8 =E KW
200m WA ==k a3|wnoh 23| 5ET =2|% h =3 | =1 |5EH =3|Amm 2
1:57.40 1:58.32 1:59.72 2:04.00 2:05.79 2:06.18 2:08.65 2:08.70
. 7 BAR BRE |2 WA K¥E |3 BT EX| 4 @R EFE |5 ARG |6 B FE |7 I BIE | 8 EE BiE
400m =k 52 |FEh 3|k 23| EET 3l =1 |5EH =2|Amh 3 EEH =3
4:12.50 4:13.77 4:21.13 4:27.20 4:28.74 4:32.18 4:33.68 4:36.65
BT 7 ONEA KXE |2 AMME—BE |3 ZSHEEF |4 MM EE |5 BE EE |6 WK B |7 HBHP FE |8 EBEFH B
1500m  |FERTH 3|k ™ =1|Amh h3|Erh 3| EEH h3|llA™ B3| 5Eh =2|lam 43
KEH | 16:24.74 17:09.10 17:16.73 17:37.02 17:44.25 17:46.92 18:21.97 18:22.08
(800m) 8:42.03 9:10.33 9:10.79 9:25.20 9:21.75 9:26.68 9:42.94 9:39.25
e 7 KB #3} |2 =ZE BEX | 3 B st [ 4 bW EBIZ | 5 LUK BRE
50m TE® 2 B RF T 2|k h3|Fk ™ b3 B AT 3
31.54 35.37 35.44 36.55 36.81
o 7 BB ERAR |2 BAFUN |3 BRKEY |4 HEEE |5 HA X |6 FEE AR |7 RN OEE | 8 =7 5
100m WA K3k 23| 5ET =2|% h =R =kx =1 =k5 =1 |5EH th2 &R —
58.02 59.98 1:00.35 1:01.23 1:03.36 1:05.95 1:06.94 1:07.11
e 7 BB ER |2 BH UMW |3 HL ERK |4 BKRKBI |5 FHBA X |6 BEEH B | 7 FE AR | ¢ HHEH =/
200m o K3k 23|% h 23| 5ET =2|lam =1 WB/NEFET f2(lLAH =1| TH =)
A=#H 2:08.20| K& H 2:09.48 2:12.84 2:13.20 2:20.71 2:22.07 2:24.87 2:26.19
TE 70 B |2 HE OBt |3 LEtHEXF |4 AR EL |5 &FEMK|6 WA BA|7 HKk #HmK| s HP FH
50m o =1| B/ AT 3| ErETH 2|k w2 | A K1|BARFH 2| KS# w2 | A =3
34.92 35.14 35.97 38.64 39.59 41.38 43.65 43.71
TE 7OEAR ARt | 2 LEHMEN |3 KB U | 4 i KA |5 BHRBRR (6 BB OZ | 7 BN A | 8 BN £iE
100m | FBIH =1 |LAfm R2|BET SP =k 2| & =2|lAf =1 |Emm =3| B =2
BE#H 1:04.59 1:05.44 1:06.20 1:08.44 1:08.93 1:09.43 1:10.14 1:10.22
T 7OEAR ARt | 2 LEHMEDR |3 BE & |4 AH D |50 BN B | 6 BN EE | 7 o K| 8 BEE KE
200m TR =AM =k5 K2|wOov =1 |5EH =2|Amm 23| TEh =[] =k5 ==k X4
AEH 2:18.98 2:24.71 2:26.84 2:29.68 2:29.99 2:31.59 2:31.85 2:34.55
a4 | ! R ER |2 FAL BEE |32 K KW |4 I CHR |5 XE &h | 6 8 WH | 7 HK KE | s #HEE R
50m o 52| XBE 23| FEh th3|Erh th3| FEEH th2 (AT th2|#k T th2 |Erh —f
28.56 28.60 30.51 32.54 34.18 36.34 37.50 37.85
a5 | 7 BEER |2 BE K |3 TE B |+ =2 &@ |5 $H Hth |6 BF —F | 7 WEAX—H| ¢ BB -
100m |BmE™ =2|% h a3ioh =3 | 5ET =2|lam 22| 5E T ==k th3|FER T 2
56.80 57.41 59.91 1:00.06 1:00.13 1:00.29 1:01.67 1:01.69
Nags4 | ! BE SR |2 BE ZEK|3 FE B | ¢4 HP ET |5 BE EW |6 FEHE EE | 7 =H EE | ¢ WEAA—H
200m | =2k 3| lAf SR =k 2| 5Em 2| lAf =1 |Emm s3(llAT #13
2:06.48 2:10.69 2:13.56 2:15.08 2:16.55 2:16.80 2:17.69 2:17.74
BAARL— | ! BWEH —EK |2 G BK|3 KE FR |4 BER XE |5 HBRER ME |6 BH BEL |7 ®E K| s B EZ
200m KER Ki|EEH Ki|x =1 |Amm ==k th3 (SN ET 2 (AT 3| lLAm $3
2:08.18 2:11.07 2:11.17 2:12.05 2:16.01 2:18.83 2:21.08 2:22.04
BAARL— | 7 XE FR |2 BX KB |3 &8 BK |4 BR HME |5 N EZ |6 e K| 7 BH R |8 Gl B
40m | TH =1|Amh 22| 5Eh Xi|Ah th3 (A th3 (A RFTH =Ry [1T=ki =Rk 2
4:37.65 4:43.83 4:50.69 4:57.15 5:02.42 5:05.09 5:09.24 5:11.27
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BT 7 ONE BRE | 2 WRIEFGH | 3 EAKRK B |4 BRA |5 MR MBE |6 M FART |7 BHE FE | s BE LE
50m =k 3| TR =3 lLaH =3 lLaH =3 |BhRT T =3 | EET th2 | A rh3|lLa =2
27.72 27.88 28.25 29.14 29.37 29.45 29.99 30.14
& 7 OWEEEA |2 BE BE |3 HNH BE |4 MRMEE |5 KRR B |6 b EF |7 K FRER |8 BE LE
100m | FEE =3| TR =1|lam 3 FARF T =3|lam =3 | Amm th2 [ EEH th2 (L@ a2
59.28 59.31 59.54 1:02.55 1:02.58 1:04.17 1:04.34 1:05.12
. ] BEWRE |2 RESH |3 BEREE |4 DMEF |5 KR W |6 BRE S| 7 HRREF| 8 TFE #HTF
200m | FEAT =M=k =3|WB/NEFET E2|AfEh th2 |E ™ th3| O ==k ==k X3
AEH 2:06.90 2:10.94 2:13.51 2:16.59 2:19.54 2:20.12 2:21.51 2:25.69
. 7 OREERE |2 XK W |3 MNE BE |4 HE EXR |5 B HK|6 BRE B |7 HRREF| 8 IBH ERF
400m o =3|Amh th3 (A 23| TEH =RIM=kq =2|lam ==k ==k =2
4:37.45 4:48.76 4:49.91 4:51.22 4:52.35 4:58.07 4:58.34 5:06.34
& i 7NE BE |2 HH £x |3 BEEREREXF |4 HF BE |5 BA EH |6 BE BFE| 7 AH KE | 8 LBEET
800m WA =3| T =3 ™ 2| EEH sh2|lLOT 22| 8EH 3| =2 | FEH a1
9:51.01 9:51.58 10:16.94 10:25.46 10:25.83 10:47.04 11:19.59 11:56.85
e 7 ORABSEF | 2 S EHE
50m  |FERT th3|BhRFTH &3
37.43 4441
o 7OMEERDETF | 2 KR BX |3 BN EE |4 ERHNEE |5 EBE BE |6 WIIHSIV | 7 REXS | 8 EARAHE
100m |BEM =2 |RMH th2 (lUs/NEFET &2 LaTd =2\ luOm th3| TR th2 | XS ER =2|Amm 2
1:04.83 1:08.90 1:09.58 1:10.07 1:11.05 1:12.44 1:12.62 1:13.81
o 7OMEERMEF | 2 KR BX |3 EFMEE | 4 RIHIV | 5 BERAELTE |6 EE KE |7 BA BH| 8 AFEXKS
200m |EET 22| EMh th2 (AT =2| TEh th2 |ErT th2 (AT b3 EEH 21| XBE =2
2:21.76 2:28.19 2:30.56 2:31.35 2:37.82 2:38.95 2:39.62 2:41.75
TE 7B KRB |2 BRE EE |3 OFE MM | ¢4 FE EF | 5 ZBALETHE | 6 HE BH
50m At th2 | FEEH th2 |ErEH 3| R 2 [BhRF 3 |FhRFTH $3
38.72 40.15 40.31 41.66 54.05 54.64
TE 7 BHFEE |2 kAR B |3 BhA FE |4 WT W |5 #%E BEXA |6 EKARK |7 KRN EE2 |8 EHFIOH,
1oom [ T s3(llAT =1 |Emm K1 FEH s3(liAT s3(llAaT 2 (LLES/NEFAT  ch3|llaTH #13
1:15.44 1:16.88 1:17.38 1:17.48 1:18.52 1:22.57 1:23.22 1:23.60
o 7 BHEE |2 WT HH |3 #ELARKE |4 BAL FTE |5 %% BEA |6 RAEHBF| 7 EFEFOH, | 8 KA ¥E
200m | TH th3| TR th3|luOm =1 |Amm =k th3|k ™ =2\ luam th3 (s /NEFET 3
2:42.05 2:45.88 2:46.28 2:47.46 2:53.48 2:59.30 3:01.38 3:02.98
o= 7 KA BE | 2 BRERE
NZT5A
som | |WmgNEES 3 mR th3
36.32 1:01.23
a5 | 7 BILAERE | 2 RE T |3 LFO5%4G | 4 BE & |5 BA MK |6 RO §F |7 KE EF | 8 @8 BN
100m |EE™ =K [T =l =Rk =2|EfEh sh2|lLOw =3|5ET sh2|lLOT E2|lLuOm 3
1:03.38 1:04.72 1:05.42 1:05.71 1:06.20 1:06.54 1:07.75 1:09.35
NaTsq | 1 BWRERE | 2 RE FE |5 AR EE | 4 LFPSE | 5 RO IR
200m |RAFET s3(luAT SR =k 2| lAf =2|5Em &2
2:21.04 2:23.26 2:26.97 2:29.16 2:31.24
BAARL— | ! AE BX |2 BFH Be |5 H£H BE |4 (AR 8|5 BEEVLD| 6 WFRKS| 7 KRF XE | ¢ AN EE
200m |EETM =1|Amh sh3|luOm =3O th2 (LS /NEFET 2 (AT th2 BT th2 (BT 2
2:22.29 2:27.87 2:33.37 2:35.37 2:35.83 2:43.34 2:43.85 2:46.69
BAARL— | ! AE BX |2 AHF BR |5 40 HEFE | ¢4 BREEILR |5 RKFE EE |6 HH B | 7 AN £E
400m |EET =1|Amh th3 (A 23| WB/NEFET 2| EAfEh th2 (A th3|Erh 2
5:03.90 5:09.19 5:28.70 5:33.41 5:36.88 5:49.53 5:56.49




